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p
)
- p
K
3. (per meability)
1
AS Am

As( Am)

(P=M/V, M;

1 (A9

(Am)



1)

(As=767),
I I I | I
I 1 ] T I



2) (As=535)

(As=512)
3) As (430~490)
4) 4
4.
Instron
Tensile Tester 5cmx25¢cm 20cm

3 = 1 LW LC



10%

(initial modulus, Y) Y=SE:--- .- (2 S (gfcm'l), E;
(%) E 2% 11.5%
|
I
yd
I-\. ........... .;{f ]
| i
(| / : I|I.
- &£ bof
s o5 B
| i v
LE == == - --__// _;-". :
' /i i
yaa & 1
4 B AR
A b -
R = ——— o
L r|"'l-. ] = I-u T
Ext L
< 3> . (Eo:].ls%, Lz, L5 L10
2,5,10gf ,E= )
1) (10% )
10%
(tightness factor)
I—W>I—C LW Lc K
2)
10% 2%



3)

( 3 E)
R L Y
4. (Bending)
4

3
G- W.b '003(9/2) <1073 eeiennn. (3)

8tan0

W; (gcm'z), b;

.G (mg.cm)
cm
(t) Q = 15—36 X 10_6

(Ro) (Rw)
(cantilever)
(G)
(cmy, 6 ;
_, (cos8/2)"
(C) C=b ( Stn6 j ....... (4)
Q)
........ (5) kg.cm®



1)

5>

(f)

Y
L. L, [= 1]

L8 Guoy—4l el E2A ol Y B
I'-ct G,.—ﬁ;l{.i-.:;ui':n! i
L. Cop—r] =] w @

H

]
-]
O
= Gp—7] A o] Y iR

10

(b)



)
wa Gcb
2)
3. 4
C
3)
, Q
(paperiness)

(overknit)

Gwb=Guwt, Ger=Get

(5)

11



12

(full hand)



